(3t & 4H51]

FIVERREHOHEE H= 15 m TiE5 P39
(IEBIFEE 1.30mEkH)
L= 100.00 m
1HAB%
{ERABEm) BHEE(m) TRERR
1000 .~ 154 x 17 = 1104 a= 12 B
2RBRBERE D BAYFERHR)
B E(m) REEMIE A
154 / 0333 x 20 = 94 A= 94 K
BARKLYIFEEIR0.333m
BERIREE (1EHYFERAKR)
94 x 75 = 7050 A= 0.705 t
XNSPE NAWS-1.5 E&E7.5kg|
4 BLAREIH
EABEm) BiEE(m)
1000 ~ 154 = 6.5 n= 7 [@
5. &R
F=(axm+CxN)xA
= 12 X | + | X 40 )x 94 = |
F= Lz
F(A) - ExREE
a(R): A%
AR LB
m(A/%/8):#A184YEH = | = EEMifi- FEEEHDIOEO ASTEHIlE
N:FEREIICEKIHERT  2(n+1), n={EAEE (908 L)
N = 40
C(H W) BiH& = u &! EEMif-EEEHNSTOEO ASTHIEE
FHREREFET NO. 1
FLEREH= 15 m 1 B OREOXERHEROEE T#E% P.39
1EHBH
EAKEMm B E(m) THRERR
1000 .~ 154 x 17 = 1104 a= 12 B
2EBEHMEEE (1ELYFERAKE)
BEm i =REH
154  40x2 X 1 = 717 gLt = 8 0.296 t ( 37kg/A )
154 ./ 40x2 x 1 = 77 KEYR—F = 8 0.048 t ( 6kg/& )
KERT = 1 0.012 t ( 12kg/{&)
Hi 0.356 t
3. &AL
F=(mXa+C)Xn
M =( B x 12 + W )x 8 = [ ]
HR—k = N x 12 + W )x 8 = |
Ko =( 1 x 12 + W )x 1 = [ |
|
F= mA
F(M) - Bx#gE
a(A):-E#A%
n(R):1EHYFERK=E
BEM m(A/A/R):#RA1BLYEH [ ] M 28wl EEEHSMOFE0 S FHMHE  (WI10~120 xH120~130 X 4,000 )
fEEH C(H/ K/ B) EHERVIERE = | = "
- m(A/A/B) #H1B4YEH = | = " ( $A% K 590~900)
#& -t C(AH/A/R) BEERVEEE = | = "
fv7 m(A/R/B):HATRLYEH = | = " (4v9KE 15~19YyhlL )
#v7 C(A/AR/R) BEERVEEE | A "

FRiERMFET NO. 1




(3t & 4H51]

FIVERREHOHEE H= 20 m T#Z4% P.39
(JEBIZFE 1.80mkH)
L= 100.00 m

1EABH

{ERABEm) BiEE(m) FiEERS

1000 .~ 103 x 17 = 1650 a= 17 B
2RMLERSK 1BLYEREE)

B E(m) REEMIE A

103 / 0338 x 20 = 62 A= 62 K

BARKLYIFEEIR0.333m

SEMEE (1ELYFERAHKE)

R e

62 X 100 = 6200 A= 0.620 t

NSP& NAWS-2.0 E&£10.0kg]

4 ELFAE

{ERABEm) BiEE(m)

1000 ~ 103 = 97 n= 10 @
5. ERHAEE

F=(aXxm+CXN)XxA
= 17 x ®W + W x 55 )x = ]
F= Lz

F(M) - B##%E
a(B):#ABR%K
AR  LERE

m(A/%/8):#A184YEH = | = EEMifi- FEEMDIOEO ASTEHIlE
N:FEREIICEKIHERT  2(n+1), n={EAEE (908 L)
N = 55
C(H ) BiH& = u &! EEMif-EEEHSTOEO ASTHIEE
FHREREFET NO. 1
FILERE H= 20 m 1 B OREOXERHEROEE T#E% P.39
1EHBH
EAKEMm B E(m) THRERR
1000 .~ 103 x 17 = 165 a= 17 B
2EBEHMEEE (1ELYFERAKE)
BEm i =REH
103 . 40x2 X 1 52 fELH = 6 0.222 t (37kg/A&)
103 ./ 40x2 x 1 = 52 JKEYR—F = 6 0.036 t ( 6kg/& )
KERT = 1 0.012 t ( 12kg/&)
Hi 0270 t
3. &AL
F=(mXa+C)Xn
g =( B x 17 + MW )X = [ ]
HR—k = N x 17 + W )x = |
RoF =( | X 17 + " )X = |
[ ]
F= s

F(M) - BERE
a(H): BEHBH
n(X)1EISYERAKE

BEEEH m(A X/ R) A1 ERYER

fgie# C(A A/ B) EEERVERE

#5 -+ m(A/X/H):#A1BLYEH
¥& -+ C(A/A/R) - EEBERVERE
F07 m(A/R/R) AT BRYER

V7" C(H/K/R) BEERVERE

BRI WEANSIOEF O AS T

(W110~120 xH120~130 X 4,000 )

( 5% R 590~900 )

(4U9KE 15~19YyhL )

FRiERMFET NO. 1



(5t & 4H51]

FIVERREHOHEE H= 25 m TiE5 P39
(JEBIFEE 1.80m~2.00mkiH)
L= 100.00 m
1HAB%
{ERABEm) BHEE(m) TRERR
1000 .~ 99 x 17 = 1718 a= 18 B
2RBRBERE D BAYFERHR)
B E(m) REEMIE A
9.9 / 0333 x 20 = 60 A= 60 &
BARKLYIFEEIR0.333m
BERIREE (1EHYFERAKR)
60 x 125 = 7500 A= 0750 t
NSPE! NAWS-25 E£125ke]
4 BLAREIH
EABEm) BiEE(m)
1000 99 = 101 n= 11 @
5. &R
F=(axm+CxN)xA
= 18 x ®W + ®W x 60 )x 60 =
F= Lz
F(A) - ExREE
a(R): A%
AR LB
m(A/%/8):#A184YEH = | N EEMifi- FEEEHDIOEO ASTEHIlE
N:FEREIKICEIHERT  2(n+1), n={EHE (908 L)
N = 6.0
C(H W) BiH& = L1z EEMif-EEEHNSTOEO ASTHIEE
FHREREFET NO. 1
FLEREH= 25 m 1 B OREOERHEROHEE T#E% P.39
1EHBH
EAKEMm B E(m) THRERR
1000 .~ 99 x 17 = 172 a= 18 B
2EBEHMEEE (1ELYFERAKE)
BEm i =REH
99 / 40%x2 x 1 5.0 gLt = 6 0222 t (37kg/A )
99 . 40x2 x 1 50 JKEHHR—+ = 6 0.036 t ( 6kg/& )
KERT = 1 0.012 t ( 12kg/{&)
Hi 0270 t
3. &AL
F=(mXa+C)Xn
fE#EsM =( B x 18 + W )x 6 = [ ]
HR—k = N x 18 + W )x 6 = |
Ko =( 1 x 18 + W )x 1 = [ |
[ |
F= s
F(M) - Bx#gE
a(A):-E#A%
n(R):1EHYFERK=E
BEM m(A/A/R):#RA1BLYEH = [ ] M 28wl EEEHSMOFE0 S FHMHE  (WI10~120 xH120~130 X 4,000 )
fEEH C(H/ K/ B) EHERVIERE = | = "
#i' -t m(A/A/B):#RA1B4YEH = | = " ( AR 590~900 )
#& -t C(AH/A/R) BEERVEEE = | = "
£ m(A/R/B):HEATBLYEH = | = " (4v9KE 15~19YyhlL )
#v7 C(A/AR/R) BEERVEEE | A "

FRiERMFET NO. 1



(5t & 4H51]

FIVERREHOHEE H= 25 m TiE5 P39
(JEBIFE 2.00m~2.30m*kH)
L= 100.00 m

1EABH

{ERABEm) BHEE(m) TRERR

1000 ~ 82 x 17 = 2074 a= 21 A
2RBRBERE D BAYFERHR)

B E(m) REEMIE A

82 / 033 x 20 = 50 A= 50 &

BARKLYIFEEIR0.333m

BERIREE (1EHYFERAKR)

R *(g‘/fx;i

50 X 125 = 6250 A= 0625 t

SENSPE! NAWS-25 E&125ke]

4 ELFAE

EABEm) BiEE(m)

1000 82 = 122 n= 13 @
5. &R

F=(axm+CxN)xA
(< 212 x ®m + W x 70 )x = ]
F= mA

F(M) - B##5E
a(B):#ABR%K
AR  LERE

m(A/%/8):#A184YEH = | = B BEEHSMOEO0 ASENEE
N:FEREIICEKIHERT  2(n+1), n={EAEE (908 L)
N = 7.0
C(H W) BiH& = u &! EEmiE-EEEHSMOEO ASFEHEE
ERRE 2#fa™ NO. 1
FLEREH= 25 m 2 B OBEOXRBRHEHOHERE T#E% P.39
1EHBH
EAKEMm B E(m) THRERR
1000 .~ 82 x 171 = 207 a= 21 B
2EBEHMEEE (1ELYFERAKE)
BEm i =REH
82  40%x2 x 2 8.2 gLt = 12 0.444 t ( 37kg/A )
82 . 40%x2 X 2 82 IKEHYR—+ = 12 0.072 t ( 6kg/&)
KERT = 1 0.012 t ( 12kg/{&)
Hi 0528 t
3. &AL
F=(mXa+C)Xn
s =( B x 21 m )x 12 = [ ]
HR—k = N x 21 m )x 12 = |
Ko =( 1 x 21 + W )x 1 = [ |
|
F= s
F (M) B 448
a(A):-E#A%
n(R):1EHYFERK=E
BEM m(A/A/R):#RA1BLYEH [ ] M 28wl EEEHSMOFE0 S FHMHE  (WI10~120 xH120~130 X 4,000 )
s C(A/ A/ R) BERERVERE = | = "
#i' -t m(A/A/B):#RA1B4YEH = | = " ( AR 590~900 )
#ih' -k C(A/X/R) EEERVEEE = | = "
£ m(A/R/B):HEATBLYEH = | = " (4v9KE 15~19YyhlL )
#v7 C(A/AR/R) BEERVEEE | A "

FRiERMFET NO. 1



(5t & 4H51]

FIVERREHOHEE H= 30 m TiE5 P39
(IEBIFEE 2.30m~2.80m*kiH)
L= 100.00 m

1EABH

{ERABEm) BiEE(m) TRERR

1000 .~ 74 x 171 = 2298 a= 23 B
2RBRBERE D BAYFERHR)

B E(m) REEMIE A

74 / 0333 x 20 = 46 A= 46 &

BARKLYIFEEIR0.333m

BERIREE (1EHYFERAKR)

R *(g‘/fx;i

46 x 150 = 6900 A= 0.690 t

SNSP& NAWS-3.0 E&15.0kg]

4 ELFAE

EABEm) BiEE(m)

1000 74 = 135 n= 14 @
5. &R

F=(axm+CxN)xA
=( 23 x ®m + W x 715 )x = |
F= [ ]

F(M) - B##5E
a(B):#ABR%K
AR  LERE

m(A/%/8):#A184YEH = | = EEMifi- FEEEHDIOEO ASTEHIlE
N:FEREIICEKIHERT  2(n+1), n={EAEE (908 L)
N = 75
C(H W) BiH& = u &! EEMif-EEEHNSTOEO ASTHIEE
FHREREFET NO. 1
FILERE H= 30 m 2 B OBEOXRBRHEHOHERE T#E% P.39
1EHBH
EAKEMm B E(m) THRERR
1000 .~ 74 x 171 = 230 a= 23 H
2EBEHMEEE (1ELYFERAKE)
BEm i =REH
14 / 40%x2 x 2 74 fELH = 8 0.296 t ( 37kg/A&)
74  / 40x2 X 2 74 KEHKR—k n = 8 0.048 t ( 6kg/& )
KERT = 1 0.012 t ( 12kg/{&)
Hi 0.356 t
3. &AL
F=(mXa+C)Xn
fEEEs =( m x 23 m )X = |
HR—k = N x 23 m )x = | |
RoF =( | X 23 + " )X = ]
[ ]
F= ] A

F(M) - BERER
a(H): BEHMBH
n(X)1EISYERKE

MEEM m(A X/ R) A1 ERYER

fgie# C(A A/ B) EEERVERE

#5 -+ m(A/X/8):#A1BLYEH

¥ -+ C(A/A/R) - EEBERVERE

F07 m(A/R/R) :HRATBRYER
V7" C(H/R/R) BEERVERE

BRI WEANSOEFO AS T

(W110~120 xH120~130 X 4,000 )

( $HEK590~900 )

(4U9KE 15~19YyhL )

FRiERMFET NO. 1




Gyl

FILERREHOHEE H= 385 m TE% P39
(EBIRE 2.80m~3.30m*kH)
L= 100.00 m
1HAR%
{ERABEm) B E(m) FRBERK
1000 .~ 66 x 17 = 2576 a= 26 B
2RMLERE 1 BLYERHE)
B E(m) REEHIE A
66 / 0333 x 20 = 40 A= 40 K
BARLYIFERIR0.333m
BEAMEE (EHYFERHE)
40 x 175 = 7000 A= 0.700 t
XNSPE NAWS-3.5 EE17.5kg|
4 BRI
EABEm) B E(m)
1000 66 = 152 n= 16 [@
5. B
F=(axXxm+CXxN)Xx A
= 26 x ® + ®W x 85 )x 40 = |
F= =]
F(M) - EfieEE
a(B):#ABEH
AR B
m(A/#%/8) :#RA184YEH = ] M EEMil- BEERSMOEO R SFHIlE
N:FRARMICKAHERT 2(n+1), n=FHAEK (908 AR)
N = 85
C(A/#) Eim& = ] A Bl EEERSTOFEO A S FHEE
FRREIRBATE™ NO. 1
FLERRH= 35 m 2 B OBREOXRFHEHOEE T#E% P.39
1TEHBH
{ERABEm) BiEE(m) FRBFRK
1000 ~ 66 x 17 = 258 a= 26 B
2EXBRMEEE (1ELYFERHE)
BEm o ETT
66 . 40x2 x 2 = 66 EELH n = 8 0296 t (37kg/A)
66 . 40x2 X 2 = 66 JKEYKR—F = 8 0.048 t ( 6kg/A& )
KERT n = 1 0012 t (12kg/f@ )
Hi 0.356 t
3. &%
F=(mXxa+C)Xn
EH =( B x 26 + ®W )x 8 = n
YiR—k =( W x 26 m )x 8 = |
wKFd=( B x 26 + ®WA )x 1 = |
[ ]
F= &
F(M) B
a(B) - EXA%
n(R): 1EHYFERKE
B m(A/A/B) #E1B4VEH [ | M 2Ewil-HEEHSTMOF0ASTHME  (WI10~120 XH120~130 X 4,000)
BEHM C(A/ X/ B) EEBERVERE = ] M "
Hh'—r m(A/K/8):#£HA1BLYEH = ] M " ( FA% &K 590~900 )
#i' - C(H/A/RB) . BEERVEEE = ] =] "
7 m(A/RB) HEATARYEH = [ ] A " (49IKE 15~19YybiL )
V7 C(AH/KR/R) BEERVEESR ] M "

BRAERHFET NO. 1



(5t & 4H51]

FIVERREHOHEE H= 40 m TiE5 P39
(JEHIFEE 3.30m~3.50m*kiH)
L= 100 m

1EABH

{ERABEm) BiEE(m) TRERR

1000 .~ 65 x 17 = 2616 a= 27 B
2RBRBERE D BAYFERHR)

B E(m) REEMIE A

65 / 0333 x 20 = 40 A= 40 &

BARKLYIFEEIR0.333m

BERIREE (1EHYFERAKR)

R *(g‘/fx;i

40 X 200 = 8000 A= 0.800 t

SSNSPE NAWS-4.0 E&£20.0kg]

4 ELFAE

EABEm) BiEE(m)

1000 65 = 154 n= 16 @
5. &R

F=(axm+CxN)xA
=( 27 x ®m + W x 85 )x = ]
F= mA

F(M) - B##5E
a(B):#ABR%K
AR  LERE

m(A/%/8):#A184YEH = | = EEMifi- FEEEHDIOEO ASTEHIlE
N:FEREIICEKIHERT  2(n+1), n={EAEE (908 L)
N = 85
C(H W) BiH& = u &! EEMif-EEEHNSTOEO ASTHIEE
FHREREFET NO. 1
FILERE H= 40 m 2 B OBEOXRBRHEHOHERE T#E% P.39
1EHBH
EAKEMm B E(m) THRERR
1000 .~ 65 x 17 = 262 a= 27 B
2EBEHMEEE (1ELYFERAKE)
BEm i =REH
65 . 40%x2 x 2 6.5 fELH = 8 0.296 t ( 37kg/A&)
65  40x2 X 2 65 IKEHYR—k n = 8 0.048 t ( 6kg/& )
KERT = 1 0.012 t ( 12kg/{&)
Hi 0.356 t
3. &AL
F=(mXa+C)Xn
fEEEsM =( B x 27 m )X = [ ]
HR—k = N x 27 m )x = |
RoF =( | X 27 + " )X = |
[ ]
F= s

F(M) - BERRE
a(H): BEHBH
n(X) 1EISYERAKE

MEEM m(A X/ R) A1 ERYER

fgie# C(A A/ B) EEERVERE

#5 -+ m(A/X/8):#A1BLYEH

¥ -+ C(A/A/R) - EEBERVERE

F07 m(A/R/R) AT BRYER
V7" C(H/K/R) BEERVERE

BRI WEANSOEFO AS T

(W110~120 xH120~130 X 4,000 )

(5% R 590~900 )

(4U9KE 15~19YyhL )

FRiERMFET NO. 1




(5t & 4H51]

FIVERREHOHEE H= 40 m TiE5 P39
(JEHIFEE 3.50m~3.80mkiH)
L= 100.00 m

1EABH

{ERABEm) BiEE(m) TRERR

1000 .~ 56 x 17 = 3036 a= 31 B
2RBRBERE D BAYFERHR)

B E(m) REEMIE A

56 / 0333 x 20 = 34 A= 34 15

BARKLYIFEEIR0.333m

BERIREE (1EHYFERAKR)

R *(g‘/fx;i

34 X 200 = 6800 A= 0.680 t

SSNSPE NAWS-4.0 E&£20.0kg]

4 ELFAE

EABEm) BiEE(m)

1000 56 = 179 n= 18 @
5. &R

F=(axm+CxN)xA
= 3 x m + W x 95 )x = ]
F= mA

F(M) - B##5E
a(B):#ABR%K
AR  LERE

m(A/%/8):#A184YEH = | = B BEEHSMOEO0 ASENEE
N:FEREIICEKIHERT  2(n+1), n={EAEE (908 L)
N = 95
C(H W) BiH& = u &! EEmiE-EEEHSMOEO ASFEHEE
ERRE 2#fa™ NO. 1
FILEREH= 40 m 3 B OBEOXRBRHEHOHERE T#E% P.39
1EHBH
EAKEMm B E(m) THRERR
1000 .~ 56 x 17 = 2304 a= 31 B
2EBEHMEEE (1ELYFERAKE)
BEm i =REH
56 . 40%x2 x 3 8.4 gLt = 12 0.444 t ( 37kg/A )
56 . 40%x2 X 3 84 IKEHYR—k = 12 0.072 t ( 6kg/&)
KERT = 1 0.012 t ( 12kg/{&)
Hi 0528 t
3. &AL
F=(mXa+C)Xn
fEEsH =( B x 3 m )x 12 = [ ]
HR—k = N x 31 m )x 12 = |
Ko =( 1 x 31 + W )x 1 = [ |
|
F= s
F (M) B 448
a(A):-E#A%
n(R):1EHYFERK=E
BEM m(A/A/R):#RA1BLYEH [ ] M 28wl EEEHSMOFE0 S FHMHE  (WI10~120 xH120~130 X 4,000 )
s C(A/ A/ R) BERERVERE = | = "
#i' -t m(A/A/B):#RA1B4YEH = | = " ( AR 590~900 )
#ih' -k C(A/X/R) EEERVEEE = | = "
£ m(A/R/B):HEATBLYEH = | = " (4v9KE 15~19YyhlL )
#v7 C(A/AR/R) BEERVEEE | A "

FRiERMFET NO. 1



